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SECONDARY SCHOOL EXAMINATION – 2022 (ANNUAL) 

SOCIAL SCIENCE (Model Set) 

Time : 2 Hrs.45 Minutes      Full marks-80

Instructions for the candidates : 

1- ijh{kkFkhZ mÙkj i=d ij viuk iz”u iqfLrdk Øekad ¼10 vadksa dk½ vo”; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 

digits) in the OMR Answer Sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mÙkj nsaA 

Candidates are required to give answer in their own words as far 

as practicable. 

3- nkfguh vksj gkf”k;s ij fn;s x, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time have been allotted to read the questions 

carefully. 

5- ;g iz”u i= nks [k.Mksa esa gS] [k.M&v ,oa [k.M&c- 

This question paper has two sections, Section-A and Section-B. 

Sub. Code - 211 
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6- [k.M&v esa 80 oLrqfu"B iz”u gSa ftuesa 40 iz”u vfuok;Z gSaA ;fn ijh{kkFkhZ 40 

ls vf/kd iz”uksa ds mÙkj nsrs@nsrh gSa] rks izFke 40 mÙkjksa dk gh ewY;kadu fd;k 

tk,xkA izR;sd iz”u ds fy, 1 vad fu/kkZfjr gSA OMR mÙkj i=d ij fn;s 

x;s lgh fodYi dks uhys@dkys ckWy isu ls HkjsaA g~okbVuj@rjy 

inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d ij iz;ksx ugha djsa vU;Fkk 

ijh{kk ifj.kke vekU; gksxkA 

In section -A there are 80 objective type questions out of which 40 

questions are compulsory. If the candidate answers more than 40 

questions, the first 40 answers only will be evaluated. Each 

question carries 1 mark. Darken the correct circle given on the 

OMR answer sheet with blue /black ball pen. Do not use Whitener 

/Liquid/ Blade/ Nail etc on the OMR answer sheet otherwise the 

result will be invalid. 

7- [k.M&c esa lkekftd foKku ds dqy 5 fo"k;ksa ds y?kq mŸkjh; iz”u gSaA izR;sd 

iz”u ds fy, 2 vad fu/kkZfjr gaSA 

In section-B, there are Short Answer Type Questions of 5 

subjects of Social Science. Each question carries 2 marks.  

(i) bfrgkl esa 6 y?kq mÙkjh; iz”u ¼iz”u la[;k 1 ls 6½ gSa ftuesa fdUgha 3 iz”uksa ds 

mŸkj nsus gSaA 

History has 6 Short Answer Type Questions (Q Nos. 1 to 6) out of 

which any 3 questions are to be answered. 
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(ii) jktuhfr foKku esa dqy 4 y?kq mÙkjh; iz”u ¼iz”u la[;k 9 ls 12½ gSa ftuesa ls 

fdUgha 2 iz”uksa ds mŸkj nsus gSaA 

Political Science has 4 Short Answer Type Questions (Q. Nos. 9 

to 12) out of which any 2 questions are to be answered. 

(iii) vFkZ”kkL= esa 4 y?kq mÙkjh; iz”u ¼iz”u la[;k 15 ls 18½ gSa ftuesa ls fdUgha 2 

iz”uksa ds mŸkj nsus gSaA 

Economics has 4 Short Answer Type Questions (Q. Nos. 15 to 

18) out of which any 2 questions are to be answered. 

(iv) Hkwxksy esa dqy 6 y?kq mÙkjh; iz”u ¼iz”u la[;k 21 ls 26½ gSa ftuesa fdUgha 3 

iz”uksa ds mŸkj nsus gSaA 

Geography has 6 Short Answer Type Questions (Q. Nos. 21 to 

26) out of which any 3 questions are to be answered. 

(v) vkink izca/ku esa 4 y?kq mÙkjh; iz”u ¼iz”u la[;k 29 ls 32½ gSa ftuesa ls fdUgha 

2 iz”uksa ds mŸkj nsus gSaA 

Disaster Management has 4 Short Answer Type Questions (Q. 

Nos. 29 to 32) out of which any 2 questions are to be answered. 

(vi) buds vfrfjDr 8 nh?kZ mŸkjh; iz”u ¼iz”u la[;k 7] 8] 13] 14] 19] 20] 27] 28½ 

gSaA izR;sd iz”u ds fy, 4 vad fu/kkZfjr gSaA bfrgkl ]jktuhfr foKku] 

vFkZ”kkL= ,oa Hkwxksy esa izR;sd ls ,d&,d nh?kZ mÙkjh; iz”u dk mÙkj nsuk gSA 

Apart from these, there are 8 Long Answer Type Questions (Q. 

Nos. 7, 8, 13, 14, 19, 20, 27, 28). Each question carries 4 marks. 

One Long Answer Type Question each from History, Political 

Science, Economics and Geography is to be answered. 

8-       fdlh izdkj ds bysDVªkWfud midj.k dk mi;ksx ugha djsaA 

Do not use any type of electronic instrument. 
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/ SECTION-A 

 / Objective Type Questions. 

iz'u la[;k 1 ls 80 rd ds izR;sd iz”u ds lkFk pkj fodYi gSa] ftuesa ls ,d lgh gSA 

izR;sd iz”u ds fy, 1 vad fu/kkZfjr gSA vius }kjk pqus x, fodYi dks OMR 'khV ij 

fpfàr djsaA fdUgha 40 iz”uksa ds mÙkj nssaA      (40x1=40) 

Question Nos. 1 to 80 have four options each out of which only one is 

correct. Each question carries 1 mark. Mark your selected option on the 

OMR sheet. Answer any 40 questions.     (40x1=40) 

1- fgUn&phu esa clus okys Ýkalhlh dgs tkrs Fks % 

(A) Ýkalhlh    (B) 'kkld oxZ 

(C) dksyksu    (D) O;kikjh 

French settled in Indo-China were called : 

(A) Frech    (B) Ruling Class 

(C) Colons    (D) Traders 

2- jkSysV ,DV dc ikfjr gqvk \ 

(A) 1919    (B) 1920 

(C) 1922    (D) 1930 

When was Rowlatt Act passed ? 

(A) 1919    (B) 1920 

(C) 1922    (D) 1930 

3-  tfy;k¡okyk ckx gR;kdkaM ds fojks/k esa fdlus viuh ^ukbV* dh mikf/k R;kx 

nh \ 
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(A) egkRek xk¡/kh   (B) lqHkk"k pUnz cksl 

(C) jchUnzukFk VSxksj   (D) if.Mr usg: 

Who surrendered the knighthood award in protest against 

Jallianwala Bagh massacre ? 

(A) Mahatma Gandhi  (B) Subhash Chandra Bose 

(C) Rabindra Nath Tagore (D) Pandit Nehru 

4-  teZuh ds ,dhdj.k esa fdldh Hkwfedk egÙoiw.kZ Fkh \ 

(A) xSjhckYMh    (B) fcLekdZ 

(C) dkmaV dkowj   (D) esftuh 

Who played important role in the unification of Germany ? 

(A) Garibaldi    (B) Bismark 

(C) Count Cavour   (D) Mazzini 

5-  vk;Z lekt dh LFkkiuk fdlus dh \ 

(A) Lokeh foosdkuUn   (B) jke d`".k ijegal 

(C) Lokeh n;kuan ljLorh  (D) jktk jke eksgu jk; 

Who founded Arya Samaj ? 

(A) Swami Vivekanand  (B) Ram Krishna Paramhans 

(C) Swami Dayanad Saraswati(D) Raja Ram Mohan Roy  

6-  iw.kZ LojkTk dh ek¡x dk izLrko dk¡xzsl ds fdl okf"kZd vf/kos”ku esa ikfjr gqvk 

\ 

(A) 1929 ykgkSj   (B) 1931 djkph 
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(C) 1933 dydÙkk   (D) 1937 csyxke 

Resolution for the demand of Purna Swaraj was passed in which 

annual session of Congress ? 

(A) 1929 Lahore   (B) 1931 Karachi 

(C) 1933 Calcutta   (D) 1937 Belgaum 

7-  Hkkjr esa lwrh oL= dh izFke fey [kksyh xbZ % 

(A) enzkl esa    (B) cEcbZ esa 

(C) dydÙkk esa    (D) lwjr esa 

The first cotton mill was opened in India in : 

(A) Madras    (B) Bombay 

(C) Calcutta    (D) Surat 

8-  vf[ky Hkkjrh; VªsM ;wfu;u dkaxzsl ¼ AITUC ½ ds izFke v/;{k dkSu Fks \ 

(A) cky xaxk/kj fryd  (B) ykyk yktir jk; 

(C) ykyk gjn;ky   (D) ?ku”;ke nkl fcM+yk 

Who was the first president of the All India Trade Union Congress 

(AITUC) ? 

(A) Bal Gangadhar Tilak  (B) Lala Lajpat Rai 

(C) Lala Hardayal   (D) Ghanshyam Das Birla 

9-  fgUn&phu {ks= esa vafre ;q) dh lekfIr ds le; vesfjdh jk"Vªifr dkSu Fks \ 

(A) okf”kaxVu    (B) fuDlu 

(C) tktZ cq”k    (D) :tosYV 
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Who was the American president at the end of the last war in 

Indo-China region ? 

(A) Washington   (B) Nixon 

(C) George Bush   (D) Roosevelt 

10-  foDVj beSuq,y us fdls iz/kkuea=h fu;qDr fd;k \ 

(A) esftuh    (B) esVjfu[k 

(C) dkmaV dkowj   (D) LVkfyu 

Whom did Victor Emmanuel appoint the Prime Minister ? 

(A) Mazzini    (B) Metternich 

(C) Count Cavour   (D) Stalin 

11-  ^jDr vkSj ykSg dh uhfr* dk voyEcu fdlus fd;k \ 

(A) eqlksfyuh    (B) foDVj beSuq,y 

(C) xSjhckYMh    (D) fcLekdZ 

Who adopted the ‘Blood and Iron policy’ ? 

(A) Mussolini    (B) Victor Emmanuel 

(C) Garibaldi   (D) Bismark 

12-  ubZ vkfFkZd uhfr ¼NEP½ dc ykxw gqbZ \ 

(A) 1918    (B) 1920 

(C) 1921    (D) 1925 

 When did the New Economic Policy (NEP) come into force ? 

(A) 1918    (B) 1920 
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(C) 1921    (D) 1925 

13-  ^bafM;u LVsV~;wVjh deh”ku* dk vU; uke D;k gS \ 

(A) gaVj deh”ku   (B) lkbeu deh”ku 

(C) lkjtaV deh”ku   (D) yh deh”ku 

What is another name of Indian Statutory Commission ? 

(A) Hunter Commission  (B) Simon Commission 

(C) Sargent Commission (D) Lee Commission 

14-  egkRek xk¡/kh us fdl lekpkj i= dk laiknu fd;k Fkk \ 

(A) dkWeuohy    (B) ;ax bafM;k 

(C) caxkyh    (D) fcgkjh 

Which newspaper was edited by Mahatma Gandhi ? 

(A) Commonwheel   (B) Young India 

(C) Bengali    (D) Bihari 

15-  xqVsucxZ us loZizFke fdl iqLrd dh NikbZ dh \ 

(A) dqjku    (B) xhrk 

(C) ckbfcy    (D) gnhl 

Which book was first printed by Gutenberg ? 

(A) Quran    (B) Gita 

(C) Bible    (D) Hadis 

16-  v'kksd dk vfHkys[k fdl fyfi esa gS \ 

(A) czkãh     (B) Qkjlh 
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(C) jkseu     (D) buesa ls dksbZ ugha 

Ashoka’a inscription is in which script ? 

(A) Brahmi    (B) Persian 

(C) Roman    (D) None of these 

17-  caxky foHkktu dc okil fy;k x;k Fkk \ 

(A) 1905    (B) 1907 

(C) 1911    (D) 1912 

When was partition of Bengal revoked ? 

(A) 1905    (B) 1907 

(C) 1911    (D) 1912 

18-  :l esa dc nklRo lekIr fd;k x;k \ 

(A) 1861    (B) 1865 

(C) 1870    (D) 1873  

When was Serfdom abolished in Russia ? 

(A) 1861    (B) 1865 

(C) 1870    (D) 1873 

19- fdl lEesyu esa 1 ebZ dks etnwj fnol eukus dk fu.kZ; fy;k x;k\ 

(A) izFke varjjk"Vªh; lEesyu  (B) f}rh; varjjk"Vªh; lEesyu 

(C) D;ksVks lEesyu   (D) czsVu oqM~l lEesyu 

In which conference the decision was taken for celebrating 1st 

May as Labour day ? 
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(A) First International Conference 

(B) Second International Conference 

(C) Kyoto Conference   

(D) Bretton Woods Conference 

20-  gks&ph&feUg dh ljdkj Fkh % 

(A) nf{k.kh fo;ruke esa  (B) mÙkjh fo;ruke esa 

(C) iwohZ fo;ruke esa   (D) if”peh fo;ruke esa 

Ho-chi-Minh’s government was : 

(A) In South Vietnam  (B) In North Vietnam 

(C) In East Vietnam  (D) In West Vietnam 

21-  ^okj ,.M ihl* fdlus fy[kh \ 

(A) dkyZ ekDlZ    (B) VkWyLVkW; 

(C) cukZMZ 'kkW    (D) nksLrksoLdh 

Who wrote ‘War and Peace’ ? 

(A) Karl Marx   (B) Tolstoy 

(C) Bernard Shaw   (D) Dostoevsky 

22-  Lkksfo;r la?k dk fo?kVu gqvk Fkk % 

(A) 1991 esa    (B) 1992 esa 

(C) 1989 esa    (D) 1990 esa 

Soviet Union was disintegrated in : 

(A) 1991    (B) 1992 
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(C) 1989    (D) 1990 

23-  iVuk dks vthekckn uke fdlus fn;k \ 

(A) vdcj    (B) vthe&ml&”kku 

(C) ckcj    (D) gqek;w¡ 

Who named Patna as Azimabad ? 

(A) Akbar    (B) Azim-Us-Shan 

(C) Babar    (D) Humayun 

24-  ikVfyiq= uxj dh LFkkiuk fdlus dh \ 

(A) fcUnqlkj    (B) pUnzxqIr ekS;Z 

(C) vtkr”k=q    (D) buesa ls dksbZ ugha 

Who founded Patliputra City ? 

(A) Bindusar    (B) Chandragupta Maurya 

(C) Ajatshatru   (D) None of these 

25-  Hkkjr esa jk"Vªh; vk; dh x.kuk fdl laLFkk }kjk dh tkrh gS \ 

(A) dsUnzh; lkaf[;dh laxBu  (B) Hkkjrh; fjtoZ cSad 

(C) jk"Vªh; izfrn”kZ losZ{k.k laxBu (D) buesa ls lHkh 

National income is calculated by which institution in India ? 

(A) Central Statistical Organization  

(B) Reserve Bank of India 

(C) National Sample Survey Organisation 

(D) All of these 
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26-  ;kstuk vk;ksx dk xBu dc gqvk \ 

(A) 15 ekpZ 1950   (B) 15 ekpZ 1951 

(C) 1 tuojh 2015   (D) 1 tuojh 2001 

When was the Planning commission formed ? 

(A) 15th March 1950  (B) 15th March 1951 

(C) 1st January 2015  (D) 1st January 2001 

27-  mRiknu ds lk/kuksa ij futh O;fDr;ksa dk LokfeRo gksrk gS % 

(A) lektoknh vFkZO;oLFkk esa  (B) iw¡thoknh vFkZO;oLFkk esa 

(C) lkE;oknh vFkZO;oLFkk esa  (D) buesa ls dksbZ ugha esa 

The means of production are owned by private individuals in : 

(A) Socialist economy  (B) Capitalist economy 

(C) Communist economy (D) None of these 

28-  xSl vkSj fctyh mRiknu fdl {ks= dk vax gS \ 

(A) izkFkfed {ks=   (B) f}rh;d {ks= 

(C) rr̀h;d {ks=   (D) buesa ls dksbZ ugha 

Gas and electricity production is the part of which sector ? 

(A) Primay sector   (B) Secondary sector 

(C) Tertiary sector   (D) None of these 

29-  ckaXykns”k dh eqnzk D;k gS \ 

(A) :Ik;k    (B) Vdk 

(C) D;kr    (D) ;qvku 
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What is the currency of Bangladesh ? 

(A) Rupee    (B) Taka 

(C) Kyat    (D) Yuan 

30-  izks0 eks0 ;quql dk lEcU/k fdl ns”k ls gS \ 

(A) Hkkjr    (B) ikfdLrku 

(C) ckaXykns”k    (D) bZjku 

Prof. Md. Yunus is related to which country ? 

(A) India    (B) Pakistan 

(C) Bangladesh   (D) Iran 

31-  izkFkfed d`f"k lk[k lfefr d`"kdksa dks fdl izdkj dk _.k iznku djrh gS \ 

(A) vYidkyhu    (B) nh?kZdkyhu 

(C) e/;dkyhu    (D) buesa ls lHkh 

What type of loan does the Primary Agricultural Credit Committee 

provide to farmer ? 

(A) Short-term   (B) Long-term 

(C) Medium-term   (D) All of these 

32-  Tkokgj jkstxkj ;kstuk fdl o’kZ izkjEHk gqbZ \ 

(A) 1982     (B) 1985  

(C) 1989     (D) 1990  

Jawahar Rozgar Yojana started in which year ? 

(A) 1982    (B) 1985 
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(C) 1989    (D) 1990 

33-  eujsxk esa ,d o"kZ esa fdrus fnu dk jkstxkj nsus dh xkjaVh nh tkrh gS \ 

(A) 150 fnu    (B) 180 fnu 

(C) 120 fnu    (D) 100 fnu 

How many days of employment does MGNREGA guarantee in a 

year ? 

(A) 150 days    (B) 180 days 

(C) 120 days    (D) 100 days  

34-  miHkksDrk laj{k.k ds fy, fdrus jkT; vk;ksx gSa \ 

(A) 582     (B) 35 

(C) 24     (D) 38 

How many state commissions are there for consumer protection ? 

(A) 582    (B) 35 

(C) 24     (D) 38 

35-  izks0 ih0 lh0 egkyuksfcl dh v/;{krk esa fdl lfefr dk xBu fd;k x;k \ 

(A) jk"Vªh; vk; lfefr  (B) df̀"k lfefr 

(C) fodkl lfefr   (D) dj lfefr 

Which committee was formed under the chairmanship of Prof. P. 

C. Mahalanobis ? 

(A) National Income committee 
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(B) Agriculture committee 

(C) Development committee 

(D) Tax committee 

36-  miHkksx O;; vkSj cpr dk ;ksx dgykrk gS % 

(A) fuos”k    (B) vk; 

(C) forj.k    (D) ek¡x 

Consumption of expenditure and savings is called : 

(A) Investment   (B) Income 

(C) Distribution   (D) Demand 

37-  fuEu esa dkSu vkfFkZd fØ;k dk pØh; izokg gS \ 

(A) mRiknu    (B) O;; 

(C) vk;     (D) buesa ls lHkh 

Which of the following is the circular flow of economic activity ? 

(A) Production   (B) Expenditure 

(C) Income    (D) All of these 

38-  Hkkjr esa loZizFke jk"Vªh; vk; dk vuqeku dc yxk;k x;k \ 

(A) 1871    (B) 1868 

(C) 1950    (D) 1945 

When was the national income estimated for the first time in 

India? 

(A) 1871    (B) 1868 
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(C) 1950    (D) 1945 

39-  fuEu esa ls dkSu lgdkfjrk dk ewyHkwr rRo ugha gS \ 

(A) vfuok;Z lnL;rk   (B) tura=kRed vk/kkj 

(C) uSfrd rFkk lkekftd rRo (D) ,sfPNd lnL;rk 

Which of the following is not a basic element of cooperative ? 

(A) Compulsory membership (B) Democratic base 

(C) Moral and Social element (D) Voluntary membership 

40-  buesa ls dkSu xSj&vkfFkZd vk/kkfjr lajpuk gS \ 

(A) foÙk     (B) ÅtkZ 

(C) LokLF;    (D) lapkj 

Which of these is a non-economic infrastructure ? 

(A) Finance    (B) Energy 

(C) Health    (D) Communication 

41-  lafo/kku dk 74ok¡ la”kks/ku lEcfU/kr gS % 

(A) iapk;rh jkt O;oLFkk ls  (B) uxjh; 'kklu O;oLFkk ls 

(C) jkT; Lrjh; 'kklu O;oLFkk ls (D) jk"Vª Lrjh; 'kklu O;oLFkk ls 

74th constitutional amendment is related to : 

(A) Panchayati Raj system (B) Urban governance 

(C) State level governance (D) National level governance 

42-  fcgkj esa ,d uxj fuxe esa vf/kdre fdrus okMZ gks ldrs gSa \ 

(A) 37     (B) 52 
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(C) 72     (D) 75 

How many maximum wards a municipal corporation may have in 

Bihar ? 

(A) 37     (B) 52 

(C) 72     (D) 75 

43- fpidks vkanksyu lEcfU/kr gS % 

(A) es/kk ikVdj ls   (B) ykyk yktir jk; ls 

(C) lqUnjyky cgqxq.kk ls  (D) ver̀k nsoh ls 

Chipko movement is related to : 

(A) Medha Patkar   (B) Lala Lajpat Rai 

(C) Sunderlal Bahuguna  (D) Amrita Devi 

44-  usiky esa lIrnyh; xBca/ku D;ksa fd;k x;k \ 

(A) yksdra= dh LFkkiuk gsrq  (B) jktra= dh LFkkiuk gsrq 

(C) dqyhura= dh LFkkiuk gsrq (D) lkE;okn dh LFkkiuk gsrq 

Why was Seven Party alliance formed in Nepal ? 

(A) To establish democracy (B) To establish monarchy 

(C) To establish aristocracy (D) To establish communism 

45- cgqtu lekt ikVhZ dh LFkkiuk fdlus dh \ 

(A) eqyk;e flag   (B) ,l0 ,0 Mkaxs 

(C) dka”khjke    (D) T;ksfr clq 

Who founded Bahujan Samaj Party ? 
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(A) Mulayam Singh   (B) S. A. Dange 

(C) Kanshiram    (D) Jyoti Basu 

46-  ny&cny dkuwu ykxw gksrk gS % 

(A) lkalnksa ,oa fo/kk;dksa ij  (B) jk"Vªifr ij 

(C) mi&jk"Vªifr ij   (D) buesa ls lHkh 

Anti-defection law is applied to : 

(A) MP and MLA   (B) President 

(C) Vice-President   (D) All of these 

47-  >kj[kaM fcgkj ls dc i`Fkd gqvk \ 

(A) 15 uoacj 2000 dks  (B) 10 uoacj 2001 dks 

(C) 15 uoacj 2002 dks  (D) 10 uoacj 2002 dks 

When was Jharkhand separated from Bihar ? 

(A) 15th November 2000  (B) 10th November 2001 

(C) 15th November 2002  (D) 10th November 2002 

48-  buesa ls dkSu la?kh; iz.kkyh dh fo”ks"krk ugha gS \ 

(A) fyf[kr lafo/kku   (B) bdgjh 'kklu O;oLFkk 

(C) 'kfDr;ksa dk foHkktu  (D) loksZPp U;k;ikfydk 

Which of these is not a characteristic of federal system ? 

(A) Written constitution  (B) Single government 

(C) Division of powers  (D) Supreme Judiciary 

49-  yksd lHkk esa pqus gq, lnL;ksa dh la[;k fdruh gS \ 
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(A) 545    (B) 543 

(C) 540    (D) 500 

How many elected members are there in Lok Sabha ? 

(A) 545    (B) 543 

(C) 540    (D) 500 

50-  iwoZ esa ckaXykns”k tkuk tkrk Fkk % 

(A) if”peh ikfdLrku   (B) mÙkjh ikfdLrku 

(C) iwohZ ikfdLrku   (D) nf{k.kh ikfdLrku 

Bangladesh was formerly known as : 

(A) West Pakistan   (B) North Pakistan 

(C) East Pakistan   (D) South Pakistan 

51-  osLVbaMht la?k dh LFkkiuk gqbZ % 

(A) 1973 esa    (B) 1965 esa 

(C) 1960 esa    (D) 1958 esa 

West Indies federation was formed in : 

(A) 1973    (B) 1965 

(C) 1960    (D) 1958 

52-  bafMdk ds ys[kd gSa % 

(A) pk.kD;    (B) Qkg~;ku 

(C) esxLFkuht    (D) lsY;wdl 

Author of Indica is : 
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(A) Chanakaya   (B) Fahien 

(C) Megasthenes   (D) Seleucus 

53-  fo'o dk lcls cM+k yksdrkaf=d ns”k dkSu gS \ 

(A) phu     (B) Hkkjr 

(C) :l     (D) ikfdLrku 

Which is the largest democratic country in the world ? 

(A) China    (B) India 

(C) Russia    (D) Pakistan 

54-  vkax lku lw dh fdl ns”k ds ukxfjd gSa \ 

(A) HkwVku    (B) ckaXykns”k 

(C) E;k¡ekj    (D) usiky 

Aung San Suu Kyi is a citizen of which country ? 

(A) Bhutan    (B) Bangladesh 

(C) Myanmar   (D) Nepal 

55-  {ks=okn dh Hkkouk dk dqifj.kke gS % 

(A) vius {ks= ls yxko  (B) jk"Vªfgr 

(C) jk"Vªh; ,drk   (D) vyxkookn 

The bad effect of the spirit of regionalism is : 

(A) Attachment with own region 

(B) National interest 

(C) National integration 
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(D) Separatism 

56-  nq/kok jk"Vªh; m|ku dgk¡ gS \ 

(A) vle    (B) jktLFkku 

(C) vksfM”kk    (D) mÙkj izns”k 

Where is the Dudhwa National Park ? 

(A) Assam    (B) Rajasthan 

(C) Odisha    (D) Uttar Pradesh 

57-  Hkkjr dh izFke jk"Vªh; ty uhfr dc viukbZ x;h Fkh \ 

(A) flrEcj 1980   (B) flrEcj 1987 

(C) twu 2002    (D) flrEcj 2002 

When was the first National Water Policy of India adopted ? 

(A) September 1980  (B) September 1987 

(C) June 2002   (D) September 2002 

58-  fo'o esa lokZf/kd oukoj.k okyk ns”k dkSu gS \ 

(A) :l     (B) Hkkjr 

(C) czkthy    (D) dukMk 

Which country has the largest forest cover in the world ? 

(A) Russia    (B) India 

(C) Brazil    (D) Canada 

59-  fdl e`nk esa g~;wel dh ek=k ux.; gksrh gS \ 

(A) ySVsjkbV e`nk   (B) tyks<+ e`nk 
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(C) dkyh eǹk    (D) ioZrh; e`nk 

Which soil has negligible amount of humus ? 

(A) Laterite Soil   (B) Alluvial Soil 

(C) Black Soil   (D) Mountain Soil 

60-  Hkkjr dk lcls cM+k [kfut rsy mRiknd {ks= dkSu gS \ 

(A) fMxcksbZ    (B) eqEcbZ gkbZ 

(C) [kEHkkr    (D) eaxyk 

Which is the largest mineral oil producing field of India ? 

(A) Digboi    (B) Mumbai High 

(C) Khambhat   (D) Mangala 

61-  buesa ls dkSu jksi.k Qly gS \ 

(A) pk;     (B) jcM+ 

(C) xUuk    (D) buesa ls lHkh 

Which of these is a plantation crop ? 

(A) Tea    (B) Rubber 

(C) Sugarcane   (D) All of these 

62-  thou js[kk jsy dc pykbZ xbZ Fkh \ 

(A) 1981    (B) 1991 

(C) 1995    (D) 2001 

When was the Life Line Train started ? 

(A) 1981    (B) 1991 
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(C) 1995    (D) 2001 

63-  dk¡oj >hy dgk¡ gS \ 

(A) njHkaxk    (B) Hkkxyiqj 

(C) csxwljk;    (D) eqt¶Qjiqj 

Where is Kanwar lake ?  

(A) Darbhanga   (B) Bhagalpur 

(C) Begusarai   (D) Muzaffarpur 

64-  fdl jkT; esa la;qDr ou izca/ku dk igyk izLrko ikfjr fd;k x;k \ 

(A) if”pe caxky   (B) vle 

(C) dsjy    (D) vksfM”kk 

In which state was the first resolution of joint forest management 

passed ? 

(A) West Bengal   (B) Assam 

(C) Kerala    (D) Odisha 

65-  buesa ls dkSu vdkcZfud [kfut gS \ 

(A) dks;yk    (B) isVªksfy;e 

(C) vHkzd    (D) izkdf̀rd xSl 

Which of these is an inorganic mineral ? 

(A) Coal    (B) Petroleum 

(C) Mica    (D) Natural gas 

66-  Hkkjr esa fdl jkT; esa lokZf/kd eSaxzkso ou gS \ 
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(A) xqtjkr    (B) if”pe caxky 

(C) vksfM”kk    (D) dsjy 

Which state has the largest mangrove forest in India ? 

(A) Gujarat    (B) West Bengal 

(C) Odisha    (D) Kerala 

67-  dkSu dks;yk ?kfV;k fdLe dk gS \ 

(A) ,saFkzklkbV    (B) fcVqfeul 

(C) fyXukbV    (D) ihV 

Which coal is of the lowest quality ? 

(A) Anthracite   (B) Bituminous 

(C) Lignite    (D) Peat 

68-  Hkkjr esa pk; dh d`f"k dgk¡ 'kq: gqbZ Fkh \ 

(A) flfDde    (B) rfeyukMq 

(C) vle    (D) dsjy 

Where was tea cultivation started in India ? 

(A) Sikkim    (B) Tamil Nadu 

(C) Assam    (D) Kerala 

69-  ikbjkbV fdl izdkj dk [kfut gS \ 

(A) /kkfRod    (B) v/kkfRod 

(C) ijek.kq    (D) buesa ls dksbZ ugha 

What type of mineral is Pyrite ? 
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(A) Metallic    (B) Non-metallic 

(C) Atomic    (D) None of these 

70-  Hkkjr dk igyk ijek.kq 'kfDr la;a= dkSu gS \ 

(A) rkjkiqj    (B) dyiDde 

(C) ujkSjk    (D) dSxk 

Which is the first atomic power plant of India ? 

(A) Tarapur    (B) Kalpakkam 

(C) Narora    (D) Kaiga 

71-  dksMjek dk lEcU/k fdl [kfut ls gS \ 

(A) vHkzd    (B) rk¡ck 

(C) lksuk    (D) ykSg v;Ld 

Koderma is related to which mineral ? 

(A) Mica    (B) Copper 

(C) Gold    (D) Iron ore 

72-  fdl ns”k us vksisd ¼OPEC½ dh lnL;rk R;kx nh gS \ 

(A) lkÅnh vjc   (B) bZjku 

(C) bjkd    (D) drj 

Which country has left the membership of OPEC ? 

(A) Saudi Arabia   (B) Iran 

(C) Iraq    (D) Qatar 

73-  buesa dkSu twV dk vxz.kh mRiknd gS \ 
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(A) Hkkjr    (B) phu 

(C) caXykns”k    (D) Jh yadk 

Which of these is the leading producer of jute ? 

(A) India    (B) China 

(C) Bangladesh   (D) Sri Lanka 

74-  vkLou ck¡/k fdl unh ls lEcfU/kr gS \ 

(A) xaxk     (B) czãiq= 

(C) uhy     (D) vestu 

Aswan Dam is related to which river ? 

(A) Ganga    (B) Brahmaputra 

(C) Nile    (D) Amazon 

75- buesa ls dkSu izkd`frd vkink ugha gS \ 

(A) lqukeh    (B) ck<+ 

(C) Hkwdai    (D) vkradokn 

Which of these is not a natural disaster ?  

(A) Tsunami    (B) Flood 

(C) Earthquake   (D) Terrorism 

76-  fouk”kdkjh Hkwdai ls fcgkj fdl o’kZ izHkkfor gqvk Fkk \ 

(A) 1920     (B) 1966  

(C) 2004     (D) 1934  

Bihar was affected by devastating earthquake in which year ? 
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(A) 1920    (B) 1966 

(C) 2004    (D) 1934 

77-  ck<+ ds le; dkSu LFkku lqjf{kr gS \ 

(A) Å¡ph Hkwfe    (B) ck<+ eSnku 

(C) MsYVk    (D) buesa ls dksbZ ugha 

Which place is safe during flood ? 

(A) High ground   (B) Flood plain 

(C) Delta    (D) None of these 

78-  HkwL[kyu ls vfHkizk; gS % 

(A) eycksa dk f[klduk  (B) pV~Vkuksa dk fxjuk 

(C) pV~Vkuksa dk f[klduk  (D) buesa ls lHkh 

Landslide means : 

(A) Debrisslide    (B) Rockfall 

(C) Rockslide   (D) All of these 

79-  vkdfLed izca/ku dk izeq[k ?kVd gS % 

(A) LFkkuh; iz”kklu   (B) Lo;alsoh laxBu 

(C) LFkkuh; yksx   (D) buesa ls lHkh 

The main component of emergency management is : 

(A) Local administration  (B) Voluntary organization 

(C) Local people    (D) All of these 

80-  HkwdEi lEHkkfor {ks=ksa esa Hkouksa dh vkd`fr dSlh gksuh pkfg, \ 
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(A) v.Mkdkj    (B) f=Hkqtkdkj 

(C) pkSdksj    (D) vk;rkdkj 

What should be the shape of buildings in earthquake prone 

areas? 

(A) Oval    (B) Triangular 

(C) Square    (D) Rectangular 

Section-B

Short Answer Type Questions 

History

iz”u la[;k 1 ls 6 rd y?kq mÙkjh; gSaA fdUgha 3 iz”uksa ds mÙkj nsaA izR;sd iz”u ds fy, 2 

vad fu/kkZfjr gaSA         ¼ x2= ½ 

Question nos. 1 to 6 are Short Answer Type. Answer any 3 questions. Each 

question carries 2 marks.       (3X2=6) 

1- fo;uk dkaxzsl dk eq[; mís”; D;k Fkk \     ¼2½ 

What was the main objective of Vienna congress ? 

2- 'khr ;q) dk laf{kIr o.kZu dhft,A      ¼2½ 

Briefly describe Cold war. 

3- Lkkbeu deh”ku dk fojks/k D;ksa gqvk Fkk \     ¼2½ 

Why was the Simon Commission opposed ? 

4- mifuos'kokn ls D;k vfHkizk; gS \      ¼2½ 

What is meant by colonialism ? 
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5- U;w Mhy D;k gS \        ¼2½ 

What is New Deal ? 

6- gksvk&gksvk vkanksyu dh foospuk djsaA     ¼2½ 

Discuss Hoa-Hoa movement.

Long Answer Type Questions

 iz”u la[;k 7 vkSj 8 nh?kZ mÙkjh; gSaA fdlh ,d iz”u dk mÙkj nsaA izR;sd iz”u ds 

fy, 4 vad fu/kkZfjr gSaA         (1X4=4) 

Question nos. 7 and 8 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.      (1x4=4) 

7- :lh Økafr ij ekDlZokn dk D;k izHkko iM+k \    4 

What was the impact of Marxism on the Russian Revolution ? 

8- Hkkjrh; jk"Vªh; vkanksyu esa egkRek xk¡/kh dh Hkwfedk dk mYys[k djsaA 

Mention the role of Mahatma Gandhi in the Indian National 

Movement ? 

POLITICAL SCIENCE 

Short Answer Type Questions

iz'u la[;k 9 ls 12 rd y?kq mÙkjh; gSaA buesa ls fdUgha nks iz”uksa ds mÙkj nsaA izR;sd iz”u 

ds fy, 2 vad fu/kkZfjr gSaA        ¼2x2=4½ 
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Question nos. 9 to 12 are Short Answer Type. Answer any two questions. 

Each question carries 2 marks.      (2x2=4) 

9- Ykksdra= esa lwpuk ds vf/kdkj dh D;k Hkwfedk gS \    ¼2½ 

What is the role of Right to information in democracy ? 

10- jktuhfrd nyksa ds nks izeq[k dk;Z crkb,A     ¼2½ 

State two main functions of political parties. 

11- la?kh; 'kklu dh nks fo”ks"krkvksa dk mYys[k dhft,A   ¼2½ 

Mention two features of Federal government. 

12- uxj fuxe dh vk; ds izeq[k lzksr D;k gSa \    ¼2½ 

What are the main sources of income of municipal corporation ? 

Long Answer Type Questions

iz”u la[;k 13 ,oa 14 nh?kZ mÙkjh; gSaA fdlh ,d iz”u dk mÙkj nsaA izR;sd iz”u ds fy, 4 

vad fu/kkZfjr gSaA          (1x4=4½  

Question nos. 13 and 14 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.      (1x4=4½ 

13- yksdrkaf=d 'kklu iz.kkyh esa  jktuhfrd nyksa  dh Hkwfedk dh  foospuk 

dhft,A          ¼4½ 
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Discuss the role of political parties in democratic form of 

government. 

14- t;izdk”k ukjk;.k dh ^laiw.kZ Økafr* us Hkkjrh; jktuhfr dks fdl izdkj cny 

fn;k \          ¼4½ 

How Jai Prakash Narayan’s ‘Sampurna Kranti’ changed Indian 

politics ? 

Economics 

Short Answer Type Questions

iz'u la[;k 15 ls 18 rd y?kq mÙkjh; gSaA fdUgha 2 iz”uksa ds mŸkj nsaA izR;sd iz”u ds fy, 

2 vad fu/kkZfjr gSaA         ¼2x2=4½ 

Question nos. 15 to 18 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.        (2X2=4) 

15- lekos”kh fodkl D;k gS \       ¼2½ 

What is Inclusive Growth ? 

16- lkoZtfud forj.k iz.kkyh ls D;k vfHkizk; gS \    ¼2½ 

What is meant by Public distribution system ? 

17- Hkkjrh; iw¡th cktkj esa fdu foÙkh; laLFkkvksa dks 'kkfey fd;k tkrk gS \¼2½ 

Which financial institutions are included in the Indian capital 

market ? 

18- oS”ohdj.k ls vki D;k le>rs gSa \      ¼2½ 



32 
 

What do you mean by Globalization ? 

 

Long Answer Type Questions

 iz”u la[;k 19 vkSj 20 nh?kZ mÙkjh; gSaA fdlh ,d iz”u dk mÙkj nsaA izR;sd iz”u ds 

fy, 4 vad fu/kkZfjr gSaA        (1x4=4½  

Question nos. 19 and 20 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.     (1x4 = 4) 

19- lsok {ks= ds fodkl esa vk/kkjHkwr lajpuk dk egÙo crkb,A  ¼4½ 

State the significance of basic infrastructure in the development of 

service sector. 

20- O;olkf;d cSadksa ds izeq[k dk;ksZa dh foospuk dhft,A   ¼4½ 

Discuss the main functions of Commercial banks. 

Geography 

Short Answer Type Questions 

iz'u la[;k 21 ls 26 rd y?kq mÙkjh; gaSA fdUgha 3 iz”uksa ds mÙkj nsaA izR;sd iz”u ds fy, 

2 vad fu/kkZfjr gSaA         ¼3x2=6½ 

Question Nos. 21 to 26 are Short Answer Type. Answer any 3 questions. 

Each question carries 2 marks.       (3x2=6) 

21- ifV~Vdk d`f"k ls vki D;k le>rs gSa \     2 

What do you mean by strip farming ? 

22- ikjEifjd ,oa xSj&ikjEifjd ÅtkZ lzksrksa esa izR;sd ds nks mnkgj.k nhft,A 2 
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Give two examples each of conventional and non-conventional 

energy sources. 

23- gfjr Økafr ls vki D;k le>rs gSa \      2 

What do you mean by Green revolution ? 

24- lkoZtfud vkSj futh m|ksx esa D;k vUrj gS \    2 

What is the difference between Public and Private industry ? 

25- tSo fofo/krk D;k gS \        2 

What is biodiversity ? 

26- jsM MsVk cqd D;k gS \        2 

What is Red Data Book ? 

Long Answer Type Questions

 iz”u la[;k 27 ,oa 28 nh?kZ mÙkjh; gSaA fdlh ,d iz”u dk mÙkj nsaA izR;sd iz”u ds 

fy,  4 vad fu/kkZfjr gSaA         (1x4=4) 

Question Nos. 27 and 28 are Long Answer Type. Answer any one question. 

Each question carries 4 marks.      (1x4=4) 

27- ty laj{k.k ls vki D;k le>rs gSa \     4 

What do you mean by water conservation ? 

28- /kkfRod ,oa v/kkfRod [kfutksa esa izR;sd ds nks mnkgj.k nhft,A  4 
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Give two examples each of metallic and non metallic minerals. 

Disaster Management 

Short Answer Type Questions

iz'u la[;k 29 ls 32 rd y?kq mÙkjh; gSaA fdUgha 2 iz”uksa ds mÙkj nsaA izR;sd iz”u ds fy, 

2 vad fu/kkZfjr gSaA         ¼2x2=4½ 

Question Nos. 29 to 32 are Short Answer Type. Answer any 2 questions. 

Each question carries 2 marks.       (2x2=4) 

29- vkink ds fdUgha nks izdkjksa dk mYys[k djsaA    2 

Mention any two types of disasters. 

30- Ckk<+ ls gksus okyh fdUgha nks {kfr;ksa dk mYys[k dhft,A   2 

Mention any two damages caused by flood. 

31- lqukeh ls cpko ds nks mik;ksa dk mYys[k dhft,A    2 

Mention two measures for protection from Tsunami. 

32- gse jsfM;ks D;k gS \        2 

What is HAM radio ? 


